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Run 5691 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: IE367
Mean: 156611 «/- 00038
Siad Dhey- 0,747 0 00027

=== Lager OFF ---
Entrie=: 15861
Mean: 15233 «- 0.0016
S Dhey: 0,132 - 00071
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Run 5691 quartetwise, Diifs)
[— === Laser OM -—-
— Enilries: IEI67
E Mean: -0, TAED & 00024
— Sid Dhew: 04526 - 00017
— === Laser OFF ---
— Eniries: 16861
- Mean: 00012 +/- 0.0019
:_ Sid Dey: 02571 - 0,007
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Run 5691 quartetwize, Asyms(
— --— Lager OM -—-
— Enlries: IE36T
E Mean: 311611 +- 0.08942
— Sid Dev- 18.4590 &/ (LIGEE
[— === Laser OFF -—-
. Enlries: 16861
:_ WMean: 00463 4= 0.0747
— Sid Dev- 10.2818 +/- (LIS2E
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=== Laser O -—-

Entries: G567
Mean: 14.4419 &/- 000041
Sid Dhew: 07942 &0 00029

=== Lager OFF ---
Entrie=: 16851
Mean: 15222 «/- 00015
Sid Dhev: 002128 & 0.0071

Run 5621 quartetwize, Sums0

=== Laser O -—-
Entries: 38367
Mean: 28,1030 - 00075
Sid Dev: 14737 - 00053

== Laser OFF ---
Entries: 18861
Mean: 30455 +- 0.0025
Sid Dev: 03398 - 00017
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— Lasar O —

Erln: 35357

Magn: IFZRE7T.000Y +- 114288070
254 Dz 234052 03D+ BTEAALTI

— Lassar OFF —
Erbna: 12881

Masn: VD0 FE S0ET «- THEE

S Drwre: DESEISE THID +/- 138419348
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Run 5631 quartetwise, Diffgd

— Lasar O —
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S (O TET24. 71350 = 435013709

— L OFF —
cnbnea: 15681
Miaan: -1 360 3305 - 201050
0d Dre: JVIOHIE B3 63 +- TH0T.00 30

Run 5691 quartetwize, Asymsd

=== Laser ON -—

Entries: JE367
Mean: 316007 +/- 0.0837
Sid Dev: 163097 +/- 0L0&92

=== Laser OFF ---
Entries: 15861
Mean: -0.0202 «- 0L034TF
Sid Dev: 47709 - 00246
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111 L =1

Run 5631 quartetwizse, Sumsd
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=== Laser O -—
Entrie=: IE367
Mean: 0008 «- 0.0 26
St Dhey: 0.5184 +~ 00078

=== Lager OFF ---
Entrie=: 15861
Mean: -0.0008 «/- DOOIE
Sid Dhey: 0.5200 +~ 00027
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Run 5691 quartetwize, Asyms DSbg1
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=== Laser O -—
Entries: JE367
Mean: 00003 «- 0.0007
Sid Dhey: 0U1328 &~ 00005

=== Laser OFF ---
Entries: 18861
Mean: 00002 +- 0.0010
Sid Dey: 001330 = 00007

Run 5691 quartetwise, Asyms Horiz Fingar

=== Laser ON -—

Entries: JE367
Mean: -0.0071 <« 0001 E
Sid Dey: 035871 -~ 00073

=== Laser OFF ---
Entries: 15861
Mean: 00053 +- 0.0037
Sid Dey: 0.51271 4~ 00026
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Run 5691 quartetwize, Asyms UShg2

=== Laser O -—-
Entries: G567
Mean: -0.0003 «- 00017
Sid Dhev: 03426 & 00072

=== Lager OFF ---
Entrie=: 16851
Mean: 00028 +- Q.05
Sid Deyv: 03434 - 000708
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Run 5691 quartetwize, Asyms DShg2
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=== Laser O -—-
Entries: 38367
Mean: -0.03006 «- 00006
Sid Dev: 01187 & 00004

== Laser OFF ---
Entries: 18861
Mean: 00003 +/- 0.00045
Sid Dev: 0017194 & 00006
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=== Laser O -—-
Entries: 38367
Mean: -0.0080 «- 00012
Sid Dev: 002610 & 00009

== Laser OFF ---
Entries: 16861
Mean: 000443 +- 0.0025
Sid Dev: 03436 - 00078
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